



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{3} + \frac{3}{4}\right) \times 2 + \frac{3}{4} =$$

$$\frac{3}{2} \times 6 \div 3 + 5\left(\frac{1}{5} + \frac{1}{6}\right) =$$

$$12(4,3 + 2,2) \div 4 \times 3 - \frac{1}{2} =$$

$$5,4 + 2\left(\frac{1}{4} - 4,8\right) =$$

$$\frac{1}{2} + 2(4,9 - 2,2) =$$

$$10\left(3,6 - \frac{3}{4}\right) \div 2 \times 2 - 3,5 =$$

$$20(5,3 - 2,2) \div 5 \times 3 - 2 =$$

$$\frac{2}{3} + 4\left(5,2 - \frac{1}{4}\right) =$$

$$\left(\frac{1}{6} + \frac{1}{6}\right) \times 4 - \frac{1}{3} =$$

$$20\left(3,7 + \frac{2}{3}\right) \div 4 \times 5 - 4 =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{3} + \frac{3}{4}\right) \times 2 + \frac{3}{4} = \frac{35}{12} = 2\frac{11}{12}$$

$$\frac{3}{2} \times 6 \div 3 + 5\left(\frac{1}{5} + \frac{1}{6}\right) = \frac{29}{6} = 4\frac{5}{6}$$

$$12(4,3 + 2,2) \div 4 \times 3 - \frac{1}{2} = 58$$

$$5,4 + 2\left(\frac{1}{4} - 4,8\right) = \left(-\frac{37}{10}\right) = \left(-3\frac{7}{10}\right)$$

$$\frac{1}{2} + 2(4,9 - 2,2) = \frac{59}{10} = 5\frac{9}{10}$$

$$10(3,6 - \frac{3}{4}) \div 2 \times 2 - 3,5 = 25$$

$$20(5,3 - 2,2) \div 5 \times 3 - 2 = \frac{176}{5} = 35\frac{1}{5}$$

$$\frac{2}{3} + 4(5,2 - \frac{1}{4}) = \frac{307}{15} = 20\frac{7}{15}$$

$$\left(\frac{1}{6} + \frac{1}{6}\right) \times 4 - \frac{1}{3} = 1$$

$$20(3,7 + \frac{2}{3}) \div 4 \times 5 - 4 = \frac{631}{6} = 105\frac{1}{6}$$